

## **RE:** Contract documents

Attached is an Iowa DOT Purchasing Section contract agreement. Please read and sign within five business days of receiving this notification.

Submit the following additional documents indicated with "X":

Required	Additional Documentation		
	Certificate of liability insurance in which the Iowa DOT is listed as additional insured.		
	Contractor Performance Bond		
	Spraying license		
	Permits		
	Builders risk insurance		

The countersigned contract will be returned electronically upon execution.

Sincerely,

The Purchasing Section

To sign up for electronic payment please complete and mail or fax the Electronic Fund Transfer (EFT) form separately to: Dept. of Administrative Services-State Accounting Enterprise Attn: EFT Coordinator Hoover State Office Building, 3<sup>rd</sup> Fl. Des Moines, IA 50319 Fax: 515-281-5255

*Electronic Fund Transfer (EFT) form can be found at:* <u>https://das.iowa.gov/sites/default/files/acct\_sae/man\_for\_ref/forms/eft\_authorization\_form.pdf</u>



## Purchasing Section Contract

Bosch Wrong-Way Driving Cameras

Contract Number: 2021-8308

This "Agreement" shall be effective as of the signature date ("Effective Date") of the Iowa Department of Transportation, Administrative Services Division hereinafter ("Agency"), having its principal offices at 800 Lincoln Way, Ames, IA 50010 and CDW GOVERNMENT LLC of 230 N Milwaukee Ave, Vernon Hills, Other, United States 60061, (hereinafter "Supplier").

- 1. In consideration of **Sixty-nine Thousand One Hundred Twenty US Dollars And Zero Cents (\$69,120.00)**, payable as set forth in the bid specifications. Supplier hereby agrees to furnish goods or services or both as herein specified, per bid solicitation RFB FY2021 #060, as opened on February 24, 2021 at the following agreed upon price(s) or rate(s) as attached.
- 2. The parties agree that the following documents shall be considered part of this contract:
  - a. Agency's bid solicitation dated February 24, 2021;
  - b. Supplier's bid response with attachments, if any;
  - c. Agency's Standard Terms and Conditions.

d. Certificate of Insurance listing the Iowa Department of Transportation insured, if additional required.

- 3. Contract period Begin Date: March 22, 2021 End Date: March 21, 2022
- Contract renewal options: YES Number of available renewals after the original contract period 3 in 1 year(s) increments.
- 5. The parties agree that time is of the essence of this contract and that it contains all of the terms and conditions agreed upon by them.
- 6. For good cause and as consideration for executing this contract, Supplier through its duly authorized agent, conveys, sells, assigns and transfers to the State of Iowa all rights, title and interest in and to all causes of action it may now have or hereafter acquire under the antitrust laws of the United States and the State of Iowa relating to the particular goods or services purchased or acquired hereunder by the State of Iowa through the Agency.
- 7. By executing this Contract the Supplier certifies it is either (a) registered with the Iowa Department of Revenue, collects, and remits Iowa sales and use taxes as required by Iowa Code chapter 432; or (b) not a "retailer" or a "retailer maintaining a place of business in this state" as those terms are defined in Iowa Code subsections 423.1(42) & (43). The Supplier also acknowledges that the Agency may declare the contract void if the above certification is false. The Supplier also understands that fraudulent



certification may result in the Agency or its representative filing for damages for breach of contract.

- 8. The parties agree that if Supplier fails to comply with the terms of this contract, Supplier shall pay Agency as liquidated damages and not as a penalty, the amount specified in the proposal instructions.
- 9. Additional terms: N/A

Supplier Contact Information Contact person: Casey Cronin Email: casecro@cdw.com Phone: 8665796349

CDW GOVERNMENT LLC (Supplier)

Iowa Department of Transportation Administrative Services Division Renee R. Shirley, Director of Purchasing (Agency)

Dario Bertocchi

Dario Bertocchi Director, Program Sales March 31, 2021

Renie R Shuley

April 01, 2021

Event Number	RFB FY2021 #060 Addendum 1	Organization	Iowa Department of Transportation
Event Title	Bosch Wrong-Way Driving Cameras	Workgroup	Purchasing
Event Description	We highly recommend online submission o	Event Owner	Zachary Gillen
Event Type	RFB-Formal	Email	Zachary. Gillen@iowadot. us
Issue Date	2/24/2021 07:00:01 AM (CT)	Phone	(515) 2391347
Close Date	3/17/2021 01:00:00 PM (CT)	Fax	(515) 2391538

Responding Supplier	City	State	Response Submitted	Lines Responded	Response Total
CDW Government LLC	Vernon Hills	IL	3/11/2021 09:21:41 AM (CT)	4	\$69,120.00
Howard Technology Solutions	s (FLaurel	MS	3/11/2021 09:48:31 AM (CT)	4	\$73,080.00
Indi Enterprise, Inc	Carol Stream	IL	3/16/2021 01:33:03 PM (CT)	4	\$77,619.60
Holzberg Communications, In	ic. Totowa	NJ	3/17/2021 12:49:30 PM (CT)	4	\$79,614.60
OB TRAFFIC (BMC CONSOLID	ATIHUMBLE	ТХ	3/17/2021 12:09:53 PM (CT)	4	\$82,799.40

Please note: Lines Responded and Response Total only includes responses to specification. No alternate response data is included.

	Supplier	QTY	UOM	Unit Price	Extended	Manufacturer	Manufacturer #
	CDW Government LLC	60	Each	\$1,042.00	\$62,520.00	Bosch	NDE-8504-R
	Howard Technology Solutions (H	60	Each	\$1,102.00	\$66,120.00	Bosch	NDE-8504-R
	Indi Enterprise, Inc	60	Each	\$1,139.19	\$68,351.40	Bosch	NDE-8504-R
	Holzberg Communications, Inc.	60	Each	\$1,180.00	\$70,800.00	Bosch	NDE-8504-R
	OB TRAFFIC (BMC CONSOLIDATE	60	Each	\$1,234.99	\$74,099.40	Bosch	NDE-8504-R
2 Bo	osch Universal Wall Mount Adapter;	Penda	ant Arm, Wl	hite			
	Supplier	QTY	UOM	Unit Price	Extended	Manufacturer	Manufacturer #
	CDW Government LLC	60	Each	\$32.00	\$1,920.00	Bosch	NDA-U-WMT
	Howard Technology Solutions (H	60	Each	\$34.00	\$2,040.00	Bosch	NDA-U-WMT
	Holzberg Communications, Inc.	60	Each	\$36.76	\$2,205.60	Bosch	NDA-U-WMT
	Indi Enterprise, Inc	60	Each	\$42.69	\$2,561.40	Bosch	NDA-U-WMT
	OB TRAFFIC (BMC CONSOLIDATE	60	Each	\$43.00	\$2,580.00	Bosch	NDA-U-WMT
	·			,	+_,	200011	
3 Bo	osch Pendant Arm interface plate ou	tdoor	with weath		<i>, _,</i>		
3 Bo		tdoor QTY	with weath UOM		Extended	Manufacturer	Manufacturer #
3 Bo	Supplier			er shield		Manufacturer	Manufacturer #
3 Bo	Supplier	QTY 60	UOM	er shield Unit Price	Extended	Manufacturer Bosch	Manufacturer # NDA-8000-PIPW
3 Bo	Supplier CDW Government LLC	<b>QTY</b> 60 60	UOM Each	er shield Unit Price \$29.00	Extended \$1,740.00	Manufacturer Bosch Bosch	Manufacturer # NDA-8000-PIPW NDA-8000-PIPW
3 Bo	Supplier CDW Government LLC Howard Technology Solutions (H	<b>QTY</b> 60 60 60	<b>UOM</b> Each Each	er shield Unit Price \$29.00 \$30.00	<b>Extended</b> \$1,740.00 \$1,800.00	Manufacturer Bosch Bosch Bosch	Manufacturer # NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW
3 Bo	Supplier CDW Government LLC Howard Technology Solutions (H Holzberg Communications, Inc.	<b>QTY</b> 60 60 60	<b>UOM</b> Each Each Each	er shield Unit Price \$29.00 \$30.00 \$32.15	<b>Extended</b> \$1,740.00 \$1,800.00 \$1,929.00	Manufacturer Bosch Bosch Bosch Bosch	Manufacturer # NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW
	Supplier CDW Government LLC Howard Technology Solutions (H Holzberg Communications, Inc. OB TRAFFIC (BMC CONSOLIDATE	<b>QTY</b> 60 60 60 60 60	<b>UOM</b> Each Each Each Each Each	er shield Unit Price \$29.00 \$30.00 \$32.15 \$37.67	<b>Extended</b> \$1,740.00 \$1,800.00 \$1,929.00 \$2,260.20	Manufacturer Bosch Bosch Bosch Bosch	
	Supplier CDW Government LLC Howard Technology Solutions (H Holzberg Communications, Inc. OB TRAFFIC (BMC CONSOLIDATE Indi Enterprise, Inc DSCh Universal pole mount adapter (State)	<b>QTY</b> 60 60 60 60 60	<b>UOM</b> Each Each Each Each Each	er shield Unit Price \$29.00 \$30.00 \$32.15 \$37.67	<b>Extended</b> \$1,740.00 \$1,800.00 \$1,929.00 \$2,260.20	Manufacturer Bosch Bosch Bosch Bosch	Manufacturer # NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW
	Supplier CDW Government LLC Howard Technology Solutions (H Holzberg Communications, Inc. OB TRAFFIC (BMC CONSOLIDATE Indi Enterprise, Inc Supplier	<b>QTY</b> 60 60 60 60 60 <b>Small</b>	UOM Each Each Each Each Each	er shield Unit Price \$29.00 \$30.00 \$32.15 \$37.67 \$41.89	Extended \$1,740.00 \$1,800.00 \$1,929.00 \$2,260.20 \$2,513.40	Manufacturer Bosch Bosch Bosch Bosch Bosch Bosch	Manufacturer # NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW
	Supplier CDW Government LLC Howard Technology Solutions (H Holzberg Communications, Inc. OB TRAFFIC (BMC CONSOLIDATE Indi Enterprise, Inc Desch Universal pole mount adapter (Supplier	QTY 60 60 60 60 60 Small) QTY 60	UOM Each Each Each Each Each	er shield Unit Price \$29.00 \$30.00 \$32.15 \$37.67 \$41.89 Unit Price	Extended \$1,740.00 \$1,800.00 \$1,929.00 \$2,260.20 \$2,513.40 Extended	Manufacturer Bosch Bosch Bosch Bosch Bosch Manufacturer Bosch	Manufacturer # NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW
	Supplier CDW Government LLC Howard Technology Solutions (H Holzberg Communications, Inc. OB TRAFFIC (BMC CONSOLIDATE Indi Enterprise, Inc Disch Universal pole mount adapter (Soupplier CDW Government LLC	QTY 60 60 60 60 60 Small) QTY 60 60	UOM Each Each Each Each Each UOM Each	er shield Unit Price \$29.00 \$30.00 \$32.15 \$37.67 \$41.89 Unit Price \$49.00	Extended \$1,740.00 \$1,800.00 \$1,929.00 \$2,260.20 \$2,513.40 Extended \$2,940.00	Manufacturer Bosch Bosch Bosch Bosch Bosch Manufacturer Bosch Bosch	Manufacturer # NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW Manufacturer #
	Supplier CDW Government LLC Howard Technology Solutions (H Holzberg Communications, Inc. OB TRAFFIC (BMC CONSOLIDATE Indi Enterprise, Inc Disch Universal pole mount adapter (S Supplier CDW Government LLC Howard Technology Solutions (H OB TRAFFIC (BMC CONSOLIDATE	QTY 60 60 60 60 60 Small) QTY 60 60	UOM Each Each Each Each Each UOM Each Each	er shield Unit Price \$30.00 \$32.15 \$37.67 \$41.89 Unit Price \$49.00 \$52.00	Extended \$1,740.00 \$1,800.00 \$1,929.00 \$2,260.20 \$2,513.40 Extended \$2,940.00 \$3,120.00	Manufacturer Bosch Bosch Bosch Bosch Bosch Manufacturer Bosch Bosch Bosch	Manufacturer # NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW NDA-8000-PIPW MAnufacturer # NDA-U-PMAS NDA-U-PMAS